Explosive warp stone barge

75 points

Independent

Move: 6” paddlewheel

Crew: max 2

This is a barge with a large cluster of warpstone on it and a set of engines which have been specifically engineered to supply power to the warpstone and overload its already unstable state, causing a catastrophic explosion.

Locations:

4: warpstone, 5+ 1st hit no effect, 2nd hit no effect, 3rd hit warpstone destroyed unexplosively

5: hull, 5+

6; paddlewheel, 5+ cannot move

Below waterline: 2 hits, 5+ save

Battle honours: 2 regardless of how destroyed.

Warpstone overload….

The skaven player declares at the end of his move that the engine power has been diverted to overloading the warpstone. On the next turn, the barge forfeits its standard move and instead drift 1d6” in the direction of the wind.. In the end phase of this following turn the barge explodes and sinks(before dicing for fires etc).

Roll 3d6(?) – that is the radius in inches of the explosion.

All ships within the first half of this radius take d8 randomised hits (do not re-roll misses). Those ships within the second outer half of the radius take half the d8 roll in randomised hits.

So this barge could detonate and destroy a large group of enemy ships (and certainly any fixed shoreforts which cant dodge!) or it could explode harmlessly, or even take out its own fleet’s ships if badly managed / the opponent manipulates the wind etc.
*** should destroying location 4 auto detonate the warpstone?*****
